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Dim fold dn_pt0 As New List(0f Point3d)
Dim 2ald_dn_pll As New List(0f Pointid)
Dim fold_dn_pt2 As New List(0f Point3d)
pim fold_dn_pt3 As New List(0f Point3d)

Dim fold up ptd As New List(Of Pointid)
Dim fold_up_ptl As New List(0f Pointdd)
Dim fold_up_pt2 As New List(Of Pointdd)
Dim lo]d_up_pll As New List(Of Pointid)
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For 3 As Integer = 0 To v - 1

For L As Integer = 0 Tou - 2

Dim pat_current As String = pat_tree.ltem(pat_tree.Path{i), 3)

Dim pat_next As String =« pat_tree.ltem(pat_tree.Path(i + 1), 3)
bim srf_current As Surface = srf_tree.Item(srf_tree.Pathii), 1)
Dim srf_next As Surface = srf_tree.Item(srf_tree.Path(i + 1), 3}

If pat_current = “A™ And pat_next = "B Then

Dim pt0 As point3d = srf_current.PointAt(l, 0)

Dim ptl As point3d = srf_curvent.Podntht(l, 1)

Dim pt2 As pointid = srf_current.PointAt(o, 1) |
Dim pt3 As point3d = srf_next.PolntAt(l, 1)

fold_dn_pto.Add (ptd)

fold_dn_pt1.Add (pl)

fold_dn_pt2.Add (pt2)

fold_dn_pt3.Add(pt3) i

Else If pst_current = "A® And pat_next = “C® Then

Dim pt0 As point3d = srf_current.PointAt(l, 0)
Dim pti As pointdd = srf_current.FolntAt (i, 1)
Dim pt2 As point3d = srf current.PointAt (0, 0)
Dim pt3 As point3d = srf next.PolntAt(l, 0)

told_dn_pto.Add (pto)
fold dn_prl.Add(ptl)
fold_dn_prd,Add(pt2)
fold_dn_pt3.Add(ptl)

Else If pat_current = "B" And pat_next = "A™ Then

Dim pt0 As point3d = srf current.PointAt(l, 0)
Dim ptl As point3d = srf current.PointAt(l, 1)
Dim pt2 A= pointdd = srf_current.PointAt(0, 0)
Dim pt3 As pointid = orf_next.PolntAt(l, 0)

fold_dn_pt0,Add (pto)
fold dn_ptl.Add(ptl)
fold dn_pr2,Add(pt2)
fold_dn_pti.Add(pt3)

Else If pat_current = "C* And pat_next = "A® Then

Dim pt0 As point3d = srf current.PointAt(l, 0)
Dim ptl As pointdd = srf_current.PointAt(l, 1)
Dim pt2 As point3d = srf_current.PolntAt(0, 1)

Dim pt3 As point3d = srf_next.PointhAt(l, 1)

fold dn_pto,Add(ptd)
fold dn_ptl.Add(ptl)
fold dn_pta.Add(pe2)
fold_dn_pti.Add(pt3)

Else If pat_current = "B" And pat_next = "C* Then

Dim pt0 As pointdd = srf_current.PointAt(l, 0)
Dim ptl As point3d = srf_current.Fointat(l, 1)
273 Dim pt2 As pointid = srf current.PointAt(0, 0)
274 Dim ot3 As point3d = srf next.Pointhril. O) »
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For 4 As Integer = 0 To u = 1

For 3 As Integer = 0 To v - 2

Dim pat_current As String = pat_tree.Item{pat_tree.Path(i), 3)

Dim pat_next As String = pat_tree,Item(pat_tree.Path(i), 3 + 1)
Dim srf_current As Surface = arf tree.ltem(srf tree.Path(i), 3}
Dim srf_next As Surface = srf_tree.Item(srf_tree.Path(i), 3 + 1)

1f pat_current = "A"

Dim pt0 As pointid
Dim ptl A= pointld
Dim pt2 As point3d
Dim pt3 As pointid

And pat_next = "B" Then

= grf current.PointAt(l,
= sef_current.Pointht (0,
= srf_current.PointAt(l,
= srf pext.PointAr(l, 1)

fold_dn_pt0,.Add (pto)
fold dn_ptl.Add(pcl)
fold_dn_pt2.Add(pt2)
fold dn_pt3.Add(ptd)

Else If pat_current = "A" And pat_next = “c*

Dim pt0 As point3d
Dim ptl As pointid
Dim pt2 As pointi3d
Dim pt3 As point3d

= srf_current.PointAt(l,
= srf_current.PointAt (0,
= srf_current.PointAt (0,
= srf next.Pointht (0, 1)

fold _dn_pro.Add(pto)
fald_dn_ptl.Add(ptl)
fold_dn_pt2.Add (pr2)
fold_dn_pti.Add(pt3d)

Else If pat_current = "B" And pat_next = “A"

Dim pt0 As pointid
Dim ptl A= point3d
Dim pt2 As pointdd
Dim pt3 As pointid

= srf_current.PolntAt(l,
= srf_current.PointAt (0,
= srf_current.PointAt(0,
= srf_next.PolntAt(0, 1)

fold_dn_pto.Add(pto)
fold dn_prl.Add(prl)
fold dn_pt2.Add (pe2)
fold_dn_pt3.Add (pt3)

Else If pat_current = "C® nd pat_next = "A"

Dim pt0 As pointid
Dim ptl As pointld
Dim pt2 As pointid
Dim pt3 As poinmt3d

= srf_current.PointAt (1,
= srf_current.FointAt (0,
= srf_current.Pointht (1,
= srf_next.PointAt(l, 1)

fold_dn_ptd.Add (peo)
fold_dn_ptl,Add(prl)
fold_dn_pt2.Add (pE2)
fold_dn_pr3.Add(pt3)

Else If pat_current = "B" And pat_next = "C*

Dim pt0 As point3d
Dim ptl Az point3d
Nim wt? As noineid

= srf_current.Pointhr(l,
= 5rf_current,Pointht (0,
= &rF mmirErant. PaintArin.
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i Az Integer = 0 To u 1

or § As Integer = 0 To v - 1

Dim pat_current As String = pat_tree.Item(pat_tree.Path(i}, j)
_tree.Item(srf tree.Path(i),

Dim arf_current As Surface = s

1f pat_current = "B® Then

Dim pto
Dim pti
Dim pt2
Dim pt3

As
Rs
Az
s

point3d
pointid
pointid
point3d
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£_current.PolintAt(l,

fold_up pto.Add(ptd)
fold_up_ptl.Add(ptl)
fold up pt2.Add(pt2)
fold_up_pti.Add(ptl)

Else If pat_

urrent

Dim pt0 As pointdd
Dim ptl As point3d
Dim pt2 As pointid
Dim ptd As pointid

"C* Then

= arf_current.PointAt(l,
= srf_current.Pointht (0,
= :xtrculren'ﬁ.P intAL (0,
= srf_current.PointAt (1,

_pto.Add (pro)
_ptl.Add (ptl)
up_pt2.Add(pt2)
fold_up_pt3.Add(pt3)

End If
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Figure 10
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